Equations and Constants


PV = nRT
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K = C + 273

F = 1.8C + 32

Cp(water) = 
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pH = –log10[H+]

q = mCp(T

E = h


(E = RH


c = 

(Tb = kb.m

(Tf = kf.m

(G = (H – T(S

(H = ((Hform,prod  – ((Hform,reac
Kp = Kc(RT)(n

Psolution = xsolventPºsolvent

NaVa = NbVb
c = 3.0x108 m/s 

1F = 96485 C = 1 J/V 


RH = –313.6 

 = –2.118x10–18 


Kw = 1.0x10–14 M2






[A]t = [A]te-kt
ln[A]t = –kt + ln[A]0

t½ = 
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C = 


E = q + W

W = –PV
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=


 = MRT

Gº = –RTlnK

NA = 6.022x1023
1 Hz = 1 w/s

h = 6.63x10–34 J/Hz = 1.58x10–37 kcal/Hz

Vgas, STP = 22.4 L/mol

R = 
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